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a. What the problem is?

Should Jim advice the company to sell only fire detectors type A knowing that the safety and welfare of the consumers are in danger or keep on selling detectors type B and keep maximum profits for his company?

b. Who has to act (the problem owner)


The problem owner am I (Jim) and I am aware of the fallacies of the A type detectors and the 
possible dangers that this fire detectors might imply on the society.

c. The moral nature of the problem


The moral for me if I was Jim will come to the few questions :


1. “Is it okay with me that my company makes profit out of product which under certain 
situations would indirectly lead to human deaths ?”


2. “Should I let a company to make profit out of people's suffering?”


3. “Is it ethical for me to advise my company to produce A type detectors just because that will 
rise my company profit and I'll get a promotion?”


4. “How to help my company to realize profit while at the same time take the public wellfare 
and safety as one of my primary objectives?”

2. Problem analysis

a. State the 5 most important stakeholders and their interests.

The most important stakeholders in the problems are as follow:

1. Jim as a senior manager within a company.


His interests would be:

-To preserve his job position

- Professional Ethics

- Being honesty to society

- Being a responsible manager

2. The other companies producing the dangerous A type fire detectors


This companies interest at the present moment is to stay in business and keep their profits and 
markets for the A type fire detectors.

3. The Country Government


The Government interests are:

· Social wellfare

· Growth of economy

· Environmentally friendly products

· Safety products

4. The Public

· Buying safe goods

· Buying cheap goods

· Being informed about dangers

· Having the choice to make an informed purchases 

5. The company where Jim is a manager at

· Jim's company interest's interest is to stay in the business of fire detectors.

· To prevent the company business image

b. Which interests conflict with each other?

The company's interest to continue making profit of their already well developed market for A type fire detectors contradicts with the public interest to prevent people's life.

Jim's company as company committed to produce the safer B type fire detectors contradicts with the interests of the A type fire detector producing companies to put back the obvious problems with their products and follow after the money profit. The government interests for best safety of society contradicts with the interests of the companies who produce the A type fire detectors. Jim's personal insight on the problem as a responsible manager also contradicts with the practice of the A type detectors producers. Public interests is also opposite to the interest of the companies who does produce the A type fire detectors.

c. State the relevant, uncertain and possible missing facts you need to solve this problem. (you may make assumptions)

· Relevant facts


1. B type detectors are safer than the A type detectors.


2. The government hasn't imposed any safety regulations to prohibit the A type detectors


3. Jim's company could stay in business only if it manufactures the B type fire detectors.


4. Jim is a society responsible manager who strives for the society general welfare and safety


5. Residential fires cause many deaths each year

· Uncertain facts


1. Is the government aware of the pitfalls of the embedment of the A type detectors?


2. Does the public (society) know about the problem?


3. Are companies willing to re-locate their A type fire detector production to B type.

· Possible missing facts


1. It's possible that the government is aware of the problem but haven't imposed any regulations 
just because no proven smouldering fire tragedy has taken place.


2. The country where the whole case take places might be a poor one and therefore


the government might allow the distribution of the A type fire detectors in a desperate


attempt to stimulate the economy.

3. Options for action


a.The problem owner of your choice has several options in this case. Make a list of actions out 
of which he could choose. State three different options.


As a problem owner Jim has a several actions to partake

I. I could advise the company to start producing the A type fire detectors after taking in consideration that the A type fire detectors are the most attractive for the fire detectors market.

II. I might advice his company to start up the B type fire detectors while simultaneously launch marketing campaign aiming at informing the public about the benefits of using the more expensive but yet better B type fire detectors. This marketing campaign can stress out on the fact that the current extra costs of buying B type fire detector in favour of the A type would safe future replacement costs for changing the older and not 100% reliable A type detectors with a B type. A good marketing campaing promoting the B type detectors will probably create a need for the B type fire detectors.

III. I could advise my company to produce both the A and B types fire detectors. Where the A type product might be the major company product and the B types fire detectors might be produced in numbers that will match the market requirements.

Ethical Evaluation – Intuition


a. Based on your intuition, what would you do?


I would do try on a regular basis to rise the questions about safety that pop up next to our 
company products and especially the A type fire detectors. Gradually I'll try to show that if we 
start producing a large quantities of the B type detectors, the B type detector will be on a level 
that will be a competitive to the A type detector market price.

Ethical evaluation - Utilitarianism


a. What would Jeremy Bentham say? List all stakeholders and  their different interests for three 
options and score these - for example from 1 (being negative) to 5 (being positive). Which 
option would be regarded as the best according to utilitarian principles?


As Jeremy Bentham philosophy is mostly based on the phrase “the greatest good for the greatest  
number”. As such he would evaluate over all the possible outcomes (consequences) for each of 
the parties involved and he will select the option that will bring the highest amount of pleasure 
for the greater amount of people.

Solution to the  “Fire detectors” case  according to Bentham's Utilitarian Theory



Should Jim's company produce A or B type detectors or both? According to 



Consequentialism?

	
	 Produce A fire detectors
	 Produce B fire detectors
	 Produce both A and B types

	1. Jim 
	2
	5
	3

	2. The Public
	3
	2
	3

	3. Companies producing the A fire detectors
	5
	1
	3

	 4. Companies producing the B fire detectors
	1
	5
	3

	5. Companies producing and A and B types
	5
	3
	5

	6. The Country government
	3
	1
	1

	Interests Total
	19
	17
	18


It's clear from the Interests Total that if the A type fire detectors are produced then according to Utilitarianism it's about to the be most beneficial for the “greatest number”, in that case 4 of the 6 involved stakeholders will be beneficial.

Of course this scenario is just a sample one since so many specifics about the case are not known. 


b. Do you think that John Stuart Mill would come to another conclusion? Why or why not?


I don't think that John Stuart Mill will be in agreement with Jeremy Bentham's position on the 
case.  Mill's ideas does reformed the old Bentham's consequentialistic ideas under a phrase that 
says: “the greatest happiness for the 
greatest number of people.”. Therefore John Stuart Mill 
would most likely accept a solution to the problem which will bring the most happiness to the 
most parties involved. So yes it's possible that both Mill and Bentham would probably come to 
the same conclusion if to produce the A fire detectors will bring both the most pleasure and 
most happiness to the highest amount of people.

Reflection

Would these theories help you (Jim)  in choosing any of the options? If yes explain why, if not explain why not. Elaborate! 

Both Consequentialism and Mill's developments over Utilitarianism would be really helpful in forming different options for action and helps me better realizing the true nature of the case. These theories give me an idea about different perspectives on the problem.

However it should be taken in mind that each of the forementioned ones are just theories. As a senior manager I'll sketch each of the theories on a paper and evaluate through it I'll then check each of the theories against my moral and ethics and beliefs and then take the final decision. In that case I would make the choice to change or better said to (influence) firm's policy to be more safety oriented. I'll also try to explain to my manager colleagues during the management meetings that if we don't think about a strategy to create awareness and need for the B type fire detectors with the time to come we might loose our position on the market. That is about to happen especially, if some other company starts producing large amounts of the B types, or for instance if the price of the B type detectors construction does drastically fall and becomes competitive to the A ones.  

